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LEVEL IEEER o AR Ed 01
RDFAEZ LIEE W,

(1) 9—{(2—4) -8+ 3} (2) 8+{9+(3+9) x2}

3) 4+-{5+(9+4+5)} (4) T+={3x(247) -2}

(5) 2+{(83—-6+7)+ 10} (6) {3—(3+8)+5}x3
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(1) 4+8+{3x(5-T7)} (2) 8 x (5+5) + (8 x 5)

(3) 10={(6—-7)xT7}+5 (4) 3—{10= (8 = 10) — 4}

(5) {3—(10—-3)+5}x7 (6) (10 —5+8) < (9—6)
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LEVEL JsskEN Hhi 1 R4 Ed 03 |
RDOeIHEZ LR E W,

(1) (2—10) =3 = (8 =5) (2) 7—{4x (10 —4) — 9}

3) 2+{4+(10-3)} =8 (4) (2x3—4)+(6+28)

(5) 6= {(4—10—3) x 3} (6) (4+5) x (3—10+6)
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(1) (5+3)x2=(5x6) (2) {3—(4—8-3)} =10

(3) 10x 4+ {8 x (8+6)} (4) (7—5)x (7—8)+4

(5) (4—3)=6—(5—71) (6) {4—(T=3+4)}=2
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RDFAEZ LIEE W,

(1) 9+-{3+(8+7)+3} (2) 3+4+{(7—8)+3}

(3) 9+(4+5)+(3-2) (4) 5—{(7+7)+10-2}

(5) {5—(9—10)+6} =38 (6) Tx{7—(8+54+6)}
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L EVEL Jask%q Hieg 1 A Ed 06
ROeHEZ LRI W,

(1) (2—4)=(6+7-9) (2) 6x{2—(9—4)} =9

(3) (5+10+5) = (7+5) 4) {5—(4—5)—T}+6

(5) {2+ (4—-7)—5}+6 (6) (5+5)+(8+7)x8
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LEVELIEEEX g A E o7 [d
ROFHHEZ LR E W,

(1) 4—2+{(5+10) =5} (2) 5+{9—(6—-9+5)}

(3) 8+{10—8—(5—2)} (4) 7-{9—-(64+6)} +2

(5) 3+ (4+2)—(6—10) (6) {8=(3x4)—5}+10
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(1) (2+4)+ (8—9+ 10)

(3) 2+ {(4+9) x 29}

(5) (348 —6)= (3x3)

(4) 3+-{(4+5-6)+2}

(2) (10 +10) = 6 + (4 x 10)

(6) 4+ {10 — (10 x 9 — 4)}
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11 25 3 16 _
g =2 g2 316 {485 (—6)= 2
L4 2 3 3
(B)4+{5+(9+4+5)} @D 7={83x@2+7) -2} (3)10={(6-7)x7}+5 (4) 3— {10+ (8 + 10) — 4}
29 =7T+(3x9-2) =10+ (=1x7)+5 1
—4 5. 2 =3 (10+- -4
4 5
72— —102 (-T)+5=2
.22 s —hmihmeT 171
2 5 T 2
(5)2+{(3-6+7) =10} (6) {3—(3+8)+5}x3 (5) {3—(10-3)+5} x7 (6) > +8) +(9—6)
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(1) (2—-10) +3+(8+5) (2) 7—{4x (10 —4) — 9} (1) (5+3)x2+(5x6) 2){3—-(4—-8-3)}+10
g3 8 7—(4x6-9) 8% 2+ 30 (38— (=7)+10
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=2+(4+7)+8 5.3 =10 x4+ (8 x 14) =2x(-1)+4
T
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=2+ -+ 8=— 3 =10 x 4+ 112=— 2
7 16 — 14
3
(5) 6+ {(4—10—3) x 3} (6) (445) % (3—10+6) (B)(4—3)=6-(5-7) (6) {4—(T+3+4)} =2
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(1) 9+{3+(8=+7)+3}

(L8 . =3+4+(-1+3)
4):(&::».4
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(3)9+(4+5)+(3-2) @) 5-{(7T+7)+10-2}
=0 =91 =5—(14+10-2)

(5) {5—(9—-10)+6} =8 (6) 7Tx{7T—(8+5+6)}
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(1) 4—2={(5+10) =5} 2)5+{9-(6-9+5)}

=4-2+(15+5) =5+(9-2)
5
=4 — 2= :’,79 =5 1—3
3 T
(3)8+{10-8—(5—-2)} 4)7-{9-(6+6)}+2
8+ (10-8-13) 7T-(9-12)+2
=8+ (—1)==8 | 17
. — 7T—(=3) +2=—
’ 2
(5) 3+ (4+2)—(6—10) (6) {8+ (3x4)—5}+10
36— (—4) (8+12-5) =10
9 13 13
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(1) 2-4)=(6+7-9) (2)6x{2-(9—4)}=9
=214 =6x(2-5)+9

6 x (=3)+9==2

(3) (5+1045) = (7+5) 4){5—(4-5)—-7t+6
:! 19 =b—-(-1)—-7)+6
2
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11 "6
24
B){2+(4-T7)—5}+6 6) (5+5)+~(8+7)x8
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1) (2+4) +(8-9+10) (2) (10+10) +6 + (4 x 10)

=69 =20+6-+40
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B)2+{(4+9)x2-9} 4)3+{(4+5-06)+2}
2+(13x2-9) 3+(3+2)
9 e 17-2 P Y
2elT=1 3,72

(5) (34+8—06) =+ (3x3) (6) 4+ {10 — (10 x 9 — 4)}
5= 0 1+ (10 — 86)
s
£ 1

:é =1+ (-T6)=—5
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